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ANSWER KEY

PARTI: WRITING (35 MARKS)
PART II: READING COMPREHENSION (35 MARKYS)
Read the two passages below and do all the exercises that follow.

PASSAGE 1

A. For questions 1-8 , choose from the people A-D. (8 x 2 =16 marks)

Which person read a book which

1. has an attractive but unfriendly heroine1.  C

2. is well-known and was written a longtimeago 2. D
3. contained two stories 3. B

4. madethereadercry4. B

5. contained insignificant details 5. A

6. finished in an unrealisticway 6.  C

7. has awell-knownscene7. D

8. contains nothing new in the way of writing 8. A

B. Draw information from the texts above and answer the following questions:

(4 marks)
1. Refer to two elements that make a book boring. (ANY TWO) (2 x 1 =2 marks)

a. unconvincing (unbelievable) characters
b. too many details about the characters (pointless details)/ worthless bits of

information
c. lacks anything original (nothing new in the way of writing)

2. Refer to two elements that make a book interesting.  (ANY TWO)
(2 x 1 =2 marks)




a story that affects the reader / makes the reader cry (close to tears)
strong/ unforgettable images/ images that can never leave the reader

well-researched
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based on shocking real-life events.
e. makes the reader feel empathy towards/ sympathise with the characters.

f. Attractive heroine

C. Choose the best alternative a, b, c or d according to Passage 2.
(5 x 2=10 marks)

1. b 2.a 3.b 4.d 5.a

D. Match the underlined words or phrases from the text with their meanings.
There are two extra definitions that you do NOT need to use.

(5 x 1 =5 marks)
1. f 2.e 3.b 4. a 5.¢c

PART Ill: USE OF ENGLISH (30 MARKYS)
A .Fill in the gaps with only ONE suitable word. (10x1=10 marks)

(1) more/ your/some/the (2) or (3) to (4) for (5) than (6) been (7) other (8) to (9)
on

(10) have

B. Complete the second sentence so that it has a similar meaning to the first.
Use the words in capitals. (5 x 1 =5 marks)
1. only | had asked
2. isn’t /is not responsible enough
3. denied taking/ denied (that) he had taken/ having taken
4. is said to be
5. can’t have left her
C. Fill in the gaps with words from the box. There are two extra words.

(5x1=5 marks)
(1) tremors (2) hazardous (3) thought (4) immense (5) urban

D. Read the text and complete the blanks with the correct form of the words in
bold. (10x1= 10 marks)

(1) teenager (2) Unfortunately (3) occasionally (4) counting (5) endless



(6) connection (7) fascination (8) largely (9) relationship (10) boredom



